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POPULATION STUDIES
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Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Read the following passage and answer the
questions given below (1 to 6):

At this critical juncture when human
existence is faced with many crises, the
only way to survive is to pick up the
threads  of  understanding among
individuals, communities and nations, and
highly diversified ecosystems, in order to
establish peace and harmony between the
two, on a spiritual foundation.

However, due to lack of proper
understanding of the meaning of spiritual
association between the human-beings and
the nature as described in our scriptures,
religious traditions are often overpowered
by fanaticism and various kinds of material
goals. Thus religions sometimes clash with
each other and humanity and nature are
exposed to under constant danger.

So under the present scenario, it is very
important that religious traditions should
imbibe a scientific and rational spirit.

On the other hand, we are all aware
that although recent advancements in science
and technology have brought tremendous
benefit to humanity, they have also posed
self-inflicting dangers to humanity.

We are threatened by self-inflicted
swiftly moving environmental alterations
about whose long term biological and
ecological consequences we are still
painfully ignorant, as for example,
depletion of the protective ozone layer, a
global warming unprecedented in the last
one hundred fifty millennia, the rapid
obliteration of bio-diversity and the
prospect of a global nuclear war that would
put at risk most of the population of the
Earth. There may be other danger too, of
which we are still ignorant. Individually
and collectively, they represent a trap being
set for human species, a trap we are setting
ourselves in, with advancement of science
and technology on one hand and
derailment of human ethical values in the
application of science & technology on the
other.
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Here then comes the issue of ethical
concerns. Ethical values, incidentally, have
not been able to keep pace with the
explosive development of science and
technology. Thus, there is an important
need to generate ethical guidelines in our
scientific research based on age-old
spiritual wisdom, especially in the field of
bio-engineering and biotechnology. A
balanced approach between scientific
temper and spiritual values should be
ensured. Although, there have been several
attempts preserving world natural/biotic
ecosystems and maintaining world-peace
by religious leaders, scientific community
and political groups, progress towards such
attempts shall remain a dream if a
cooperative effort of science, spirituality
and human organisations does not take
place.

1. Today, human existence is at a
critical juncture because of

(A) explosive development in
Science & Technology.

(B) lack of understanding among
individuals, communities and
nations.

(C) religious Fanaticism.

(D) high material goals.

2. The understanding of religious
scriptures is often overshadowed by
(A) Fanaticism
(B) Scientific innovations
(C) Technological Development
(D) Rational appraisal

3. Human existence with peace can be
established on the foundations of
(A) scientific and technological
progress
(B) material and scientific progress
(C) spiritual and material progress
(D) spiritual and scientific progress
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What does ‘a trap being set for

human species’ represent ?

(A) Ignorance of the consequences
of depletion of ozone layer
only.

(B) Ignorance of the consequences
of ecological imbalances only.

(C) Ignorance of the consequences
of global nuclear war.

(D) All the above.

Development of  Science &
Technology in Modern day world is
devoid of

(A) Ethical and spiritual values

(B) Cooperative human attitude

(C) Scientific temper

(D) Concern for human existence

The tone of the passage is
(A) Analytical

(B) Descriptive

(C) Prescriptive

(D) Narrative

Assertion (A) : A little are 44
percent of Scheduled Caste
women receive three or more
antenatal care (ANC) visits as
compared to more than 61
percent of the non-scheduled
caste women.

Reason (R) : Social disadvantages
after hinder access to health
care services.

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.
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10.

11.

12.

Which State has recently outsourced
the  family planning  services
including male and  female
sterilization to accredited private
hospitals ?

(A) Tamil Nadu

(B) Gujarat

(C) Kerala

(D) Bihar

Which of the following morbidity
conditions is not included in any of
the National Family Health Surveys ?
(A) Tuberculosis

(B) Malaria
(C) Diabetes
(D) Dengue

Name the some of national level data
on morbidity collected in recent
times

(A) Sample Registration System
(B) National Sample Survey

(C) National Family Health Survey
(D) Vital Registration System

As evident from NFHS-3, a small
percent of households are covered by
any health insurance scheme. What is
it?

(A) Less than 5%

(B) 5-10%

(C) 10-15%

(D) More than 15%

Which are the guiding principles of

universal health coverage ?

(A) Universality, quality, equity,
affordability

(B) Affordability, people’s health

in people’s hand, equity,
quality
(C) Universality, equity, non-

exclusion, patient’s right

(D) Equity, financial protection,
non-discrimination, inclusive
health case
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11.

12.
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13.

14.

15.

16.

Which of the following is not a
professional body of population

scientists ?

(A) APA (B) IASP
(C) IASSH (D) IUSSP
Choose the correct combination

among the following with regard to
the Millennium Development Goals
and the indicators for monitoring
progress :

(A) 5 goals and 18 indicators

(B) 6 goals and 28 indicators

(C) 7 goals and 38 indicators

(D) 8 goals and 48 indicators

Arrange the following policies of the
Government of India in
chronological order :

l. National Health Policy
I1.  National Population Policy
I11.  National Economic Policy
IV. National Youth Policy

Codes :

(A IV 1o
@ 1" 1oV
©) 1 I v 1l
(D) o v

Arrange the following conferences in
chronological order :

a.  Alma Ata Conference
b.  World Population Conference,

Bucharest

C. International Conference on
Population and Development,
Cairo

d. International Conference on
Gender and Development,
Beijing

A d c b a

(B) c b a d

C) b a c d

(D) a c b d
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17.

18.

19.

20.

Assertion (A) : The health care
services available to pregnant
women and new born infants in
most States of India is very
poor.

Reason (R) : The primary health
care system in the country is
ill-equipped to deal with the
illness burden.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true, but
(R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Arrange the following approaches to
the family planning programme from
the earliest to the latest :

1.  Clinical Approach

2.  Extension Approach

3. Cafeteria Approach

4.  Target Approach

Codes :

(A) 2 3 1 4
(B) 1 2 3 4
(C) 3 4 2 1
(D) 2 1 3 4

Where was the first United Nations
Population Conference held ?

(A) ltaly

(B) Germany

(C) Rome

(D) USA

The PNDT Act was enacted to
address

(A) Legal Abortion

(B) Sex Selective Abortion

(C) Abortion Care to Unwed
Mother
(D) Abortion care to rape victims
J-15-13



13.

14.

15.

16.
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17.

18.

19.

20.
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21.

22.

23.

Which year India adopted ‘The

Reproductive and Child Health
(RCH) programme’ ?
(A) 1996 (B) 1998
(C) 1997 (D) 2000
Match the social Health Insurance
Scheme given in List — | with the
states implementation the scheme
given in List— 11 :
List—1 List— 11
a. Arogyashree 1. AllIndia
Scheme except few
States
b. DeenDayal 2. Andhra
Upadhayay Pradesh
Scheme
c. RSBY 3. Kerala
d. Kutumb shree 4. M.P.
Scheme
Codes :
a b c d
(A) 2 4 1 3
(B) 3 4 1 2
© 1 2 3 4
D) 4 3 2 1

What is the correct definition of

Unmet Need of Contraception ?

(A) Proportion of fecund married
women who either do not want
any more children or wish to
postpone the birth of their next
child for atleast two more years
but not using any modern
method of contraception.

(B) Proportion of married women
not using any  modern
contraceptive and do not want a
child any more.

(C) Proportion of married women
want to use modern method of
contraception but not able to
get it.

(D) Proportion of married women
who are not satisfied with the
contraceptives used by them.
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24.

25.

26.

27.

AYUSH is an acronym for the
systems of medicines which include
(A) Ayurveda and Unani

(B) Homeopathy and Siddha

(C) Yogaand Siddha

(D) All of the above

Arrange the following healthcare
providing centres in ascending order
of service provisioning :

l. District Hospital

Il.  Sub Centre

1. Community Health Centre

IV. Primary Health Centre

Codes :

(A 111l vV
@) 1 v o
(C v 1 1 11
(D) | - m v

Which one is the best Census

measure of fertility ?

(A) Ratio of children O — 4 years to
women ages 15 — 44,

(B) Ratio of children 5 — 9 years to
women ages 15 — 49.

(C) Children ever born to women
in age group 15 — 49.

(D) Number of female children born
to women in age group 15 — 49.

The fifth stage of

transition is

(A) when slow rate of population
growth can turn into negative
growth.

(B) When after low birth and death
rate, population again starts
growing fast due to pronatalist
policy of the government.

(C) When low crude birth rate
continue for a protracted period
and death rate starts increasing
due to life style of people.

(D) When  birth rate  starts
increasing due to incentives by
Governments and death rate
increases due to life style
related diseases.

population
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21. YR A USHA UH 9T WA (RCH)

A [T o9 | 70T o1 2
(A) 1996 (B) 1998
(C) 1997 (D) 2000

22. gl (TS W SEr A 6
gaA-11 (rarfad & ame T5) % 9T

goferd Y :
=it - | =it - 11

a. W & 1. P TG
BISE BIE HT IO

qRA

b. <F T 2. Y WY
ST AT

c. IRUIAAE 3. A

d. Fg= o 4. T URH
RISEI

FT
a b Cc d

A 2 4 1 3

B 3 4 1 2

© 1 2 3 4

D) 4 3 2 1

23. ™ TRy ® [ T g THA B T
TR o T 2
(A) Wi foerfea fear @ o
U ST R SR e R
e & AT AU ST e & STH
H T Y FHH I AR aut F o
T @Rl € g T R
ToRell amgfen oty o T = it |
(B) fomfea ferai =1 U ST g
ayfer ™ Ry w1 S @l
T @ T AR HE AR Fear @l
el & |
(C) foafeq ferai =1 ofua <t T
Ry = smyfes fafy @ swEm
AT ATl & TR 36 U &l Y
Tt ¥ |
(D) foanfea fe= &1 3tU S 39 T
Ryt & dqe F6 & S o
YA @ E |
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24.

25.

26.

27.

Mgy, el & 37 Faenst & o
G v W ulenn e © S
freterfiad =t gmTfere st €

(A)  SEES SR A

(B) eifaniet v fog

(C) = R Ty

(D) S et

frfafaa w@reg ui=m weEs sl &
[T UG FHH & REN 0 T ad
H

I e A

EEC-S
1. TR @ &
V. e @ &

ETE

(A) 1l 11 | v
B) 1 v 1l |
C v 1l | 1l
(D) 1 1 11 v

SHEET % SThST o YR T TS AT

% ford F7 § 9 B Tad Suge § 2

(A) (0-4) T & F=Al qA (15-44) T
& ferat & s ST

(B) (5-9) a9 & a=al a9 (15-49) a9
! feat & a3

(C) (15-49) a9 & forai g1 S
oft T

(D) (15-49) a9 =i fe= g SIfa
Tt =t ferer

SHifererar ehHUT Sl el 3Yere 3T & 2

(A) & SHEET ghe Hodd W
THRICHS Fig H 981 1 |

(B) ST& WHR H USH Bl Fgmal I
et i & HROT SHEET H HH
S 3R g & a% R ¥ ghs
T 9% & ST |

(C) ST 3TeMifed =T ST SIehrei ST
W AR AN W SHed St |
URe B % HRUT 5 <X H gy
|

(D) & WHR FRT Wede 5 ST+ &
FROT ST § g 8 o ud
AN 1 ST Sl Tatad I &
HROT G X H ot Iheg & o1 |
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28.

29.

30.

Match List — I with List — 1l for the
Millennium Development Goals and
indicators  for  monitoring  the

progress :
List—1 List— 11

a. Reduce Child 1. Proportional 1

Mortality year old
children
immunised
against
measles.

b. Improve 2. Proportional
Maternal births attended
Health by skilled

health
personal

c. Combat 3. Contraceptive
HIV/AIDS, prevalence
Malaria and rate
other diseases

d. Ensure 4. Proportion of
Environmental land area
Sustainability covered by

forest

Codes :

a b C d

(A) 2 1 4 3

B) 1 2 3 4

C) 3 2 4 1

D) 4 3 2 1

Approximately 70 percent of the
earth is covered by water. Which
approximate percent of water is
suitable for human use ?

(A) 5 percent

(B) 1 percent

(C) 3 percent

(D) 4 percent

What is the concept which
emphasises that an environment can
support number of individuals for a
prolonged period of time ?

(A) Population Density

(B) Maximum growth rate

(C) Biotic potential

(D) Carrying capacity
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31.

32.

33.

34.

Which of the following best explains
a sustainable society ?

(A) Meets the needs and aspirations

of the present  without
compromising those of the
future.

(B) It is inconsistent with the goals
of environmentalism.

(C) It continues as always and
assumes that things will work
out for the best.

Curtails all
development.

further

(D)

Censoring refers to the fact that :

(A) Women often forget the exact
dates of birth of their children.

(B) At the time of data correction,
some women have not
completed child bearing.

(C) Not all women in the
population are interviewed.

Data for the countries are
suppressed by the government.

(D)

For deciding the sample size in
demographic surveys, which one is
not considered ?

(A) Level of significance

(B) The difference between
estimated and actual value

(C) Population size
(D) Population variance

Which is the source of data on health
expenditure in the country ?

(A) NFHS (National Family and
Health Survey)

(B) AHS (Annual Health Survey)
(C) NSS (National Sample Survey)
(D) Census

J-15-13



28.

29.

30.

-1 (Geantsy fawra ote) o gi-||
(STt TR gerehT) o a1l gaferd o :
=it - | =it - 11
a. TATIFT 1. @& 955 1
FHET It St
ISEEARCEiEAEW)
& T §, A

EEein)

. 3T S H
3T S 19T
e @
HITHERT Bl 3G
TWHEME |

. Y R
T 3T

. TGN
3TeTEd 87
1 I

B

(A)

(B)

©)

(D)

Jedl & ST 70 Uiwrd 9T § A € |
O ST % [ S BT o
ToperT TfcToTe Ut & 9

(A) 5 UfaeTa

(B) 1 Ufceta

(C) 3 wider

(D) 4 UfaeTa

NwrRr N
WNN RO
NDA WSRO
N i =

U Ry adERT S %S sAfeREl o

T AT o o1 Sferets § Hehel & 39
T2 o STergRoT foehia &l TE § 9
(A) SHIEE T

(B) 3tfusad ghg 3T

(C) it ame

(D) @’ &HaT
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31.

32.

33.

34.

ffafed & 9 9RoMS qHIST A 7§ 2

(A) ¥fesr & Ty guear SR
TAE  H ETIRAS R
ST T qXT AT & |

(B) & SIAIERUEE & el & IFTEY
PE |

(C) I% EHeM Ff TRE ¥ 3TeRd =erdl
&1 & AR woq e € {6 @9
FT 37T & |

(D) 3 St 3R T foThra @ F
TAE |

atfuy (F |y = § 9 fhae S

HIATE 2

(A) U AfeAd STUH Sl T TEl
S AT et S § |

(B) g STHT hd WA P Toaat
Feat B S 3 H a1 AR
T

(C) SHIET § afmferd ot fomt @
TR el fohal T |

(D) F WM T WHR NHgl & 55
FIAE |

ST T B T T TR iR
H & o =T B B a1 uET o T
3T & 2

(A) QAT B TR

(B) dioe UE 3Tihield god | 3faT
(C) STIEEAT &l 3hHR

(D) SHEET ¥ faug

I H @R TY G ShEl A
FAE?

(A) TTETITE. (F RN T
T AT

(B) TUANY. (ANh W 9d)
(C) TATATE. (A¥HS et 9a)
(D) SFTOAT
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35. Selectivity bias in survey data :

(A)

(B)

(©)

(D)

are only important in the

analysis of birth interval.

may affect studies of the
interval between marriages,
geographic movement or job
changes.

arise because women often
forget the exact age of birth of
their children.

arise because the survey is
cross sectional rather than a
complete longitudinal study of
each birth cohort of women.

36. Match from List— I and List— 11 :

List—1 List— 11

a. International i. 8" March
Women’s Day

b. World Health ii. 7" April
Day

c. World iii. 5" June
Environment Day

d. International Day iv. 1% October
of the Older

Codes :
a b c d

(A) i ii i v

(B) i i v i

(C) ii iv i iii

(D) iv i i i
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37.

38.

Match the items in List — | with the
item from the List—11 :

List—1 List— 11
a. Primary i. Public/State
Group ownership of
means of
production
b. Economic  ii. Abstract
Goods Principles of
Behaviour
c. Communist iii. Family
Economy
d. Values iv. Which possess
both utility
and scarcity
Codes :
a b C d
(A) i i v
(B) i i i v
C) i iv i iii
(D) i v i ii

What is horizontal and vertical equity ?
Select the right answer.

(A)

(B)

(©)

(D)

Horizontal equity deals with
issues across population and
vertical equity deals with issues
related to specific population
groups.

Horizontal equity deals with
poor population groups but
vertical equity deals with rich
population groups.

Horizontal and vertical equity
both refers to reduce gap
between rich and poor.

Horizontal equity deals with
poverty and vertical equity
deals with richness.
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35. O 3k H TIACHSAT JAE

(A)

(B)

S IR & favemur § fEd
TETIqor |

| 1E R 101117 = o = o [ o N
AT & FScAel o 3TAIT i
TeIfae HO |

(C) dwfgemd u™: 30+  F=ai @
AT S A Sl & |

(D) HATTT () WA  (h
YR B & 7 o e afeen
ST T (T FE) H ST
AT (SiNTZieTeT =) |

36. a1 H T H G-Il H HEE F A"

goferd #
= - | = - 1

a. AT i, sHM
HigaT g

b. fova wrem i, 7 oW
feag

c. fava maERer iii. 55
feag

d. I iv. 1 3R
I e

FT
a b c d

(A i Qi i v

B) i Qi v i

©€) i v i i

O) iv i i il
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37. Hl-l i WG B -1l HET ok

38.

goferd X
=t - | = - 1
(ST, TIei1eh) ()
a. WAHH THE i, SCURA % AT
EARSICEIEED
T[T e
b. oMIH aXqE  ii. AR & A
(EsFAaal
c. Hrarst iii. IRER
ST
d. g iv. STet Ui
3T ST (3
AN IAT E |
HT

(A) i imivi

(B) i ii i v

C) i iv i iii

(D) iii iv i ii

FEERT TE R e & e
AT AT H

(A) TIERE el qupul SHEen §

(B)

(©)

(D)

e ¥ fanme use o @
el ¢ |

TEERE I e % e 9
Te SEERF Sioerel 3HIT A &
el § GEtd © |

TR Td SEEd gl
WSt Td IERI F 9 g wH
FHH G Gefad € |

TIERE I T ¥ wE
SEERT SfoEel I d Hafud
g
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39.

40.

41.

42.

Universal Immunisation Program
(UIP) has extended coverage to the
children aged 12 — 23 months as part
of preventive case. What percent of
this children are fully immunised
according to NFHS -3 ?

(A) Less than 45 percent
(B) 45 -50 percent

(C) 50 - 55 percent

(D) More than 55 percent

Nutritional status of the children can
be measured by the following :

(A) Percent stunted,; percent
wasted; percent underweight

(B) Percent stunted; percent wasted

(C) Percent wasted;
underweight

(D) None

percent

Which of the following policies
address the youth ?

(A) Mahatma Gandhi National
Rural Employment Guarantee
Act (MNREGA)

(B) Kishori Swasthya Yojna

(C) Rashtriya  Swasthya Bima
Yojana

(D) Mahila Samakhya

Name the policy of the Indian

Government which targets

development in the North-Eastern
States.

(A) North-East Policy

(B) The Seven Sisters Policy
(C) Look East Policy

(D) Eastward Look

Paper-I111

14

43.

44,

45.

46.

Which of the following programme
does not address the child population ?

(A) 1CDS (Integrated Child
Development Scheme)
(B) MCH (Mother and Child

Health) Programme

(C) UIP (Universal Immunisation
Programme)

(D) ARSH (Adolescent Reproductive
and Sexual Health Programme)

“As per 2011 Provisional Census
totals is the most urbanised
State of India.

(A) Goa (B) Mizoram
(C) Kerala (D) Tamil Nadu
Arrange the States of India in

descending order with respect to

literacy rate of females as per 2011

Census :

(A) Nagaland, Goa,
Mizoram, Tripura

(B) Kerala, Mizoram, Goa, Tripura,

Kerala,

Nagaland

(C) Kerala, Mizoram, Tripura, Goa,
Nagaland

(D) Nagaland,  Goa,  Tripura,
Mizoram, Kerala

Arrange the States and Union

Territories in descending order, with
respect to sex ratio, as per 2011
Census :

(A) Kerala, Chhattisgarh,
Pondicherry, Tamil Nadu

(B) Pondicherry, Kerala, Andhra
Pradesh, Tamil Nadu

(C) Pondicherry, Kerala,
Chhattisgarh, Andhra Pradesh

(D) Kerala, Pondicherry, Tamil
Nadu, Andhra Pradesh
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39.

40.

41.

42.

YRR BT ASHT (. 3EA) &
3T 12-23 HIE & el i oS
U1 o AR oed H forn ST & o
TAURTAUH.-3 (NFHS-3) & SFER
TH § fead dfoed S @ O
iRt e T € 2

(A) 45 Ufaerd | HH
(B)  45-50 ufaeTa

(C) 50-55 wfaeTa

(D) 55 Uiqerd ¥ 3TTe®

ol & TN g9 AT WAt T HIT
forer e T HehaT & 2

(A) T& faetad &1 Hfaed, HegEm
TEIeT T UTART; UTaeTd =St

(B) % fomiad &1 ufderd, HvaEm
(GSTeT) T UTTeTe

(C) ¥ TI0T (J&eT) T UIA9Td, WfereTd
CCEL]

(D) =il

T T
Haifad el € 2

(A) TETHFTE UL AEHT ASEIR
TRET ASFT (MNREGA)

(B) Topemst Tamee AT
(C) T e ST AT
(D) WfEeT ArTE

TR THR ! 37 A & foaug T odna
ST gaieR & T4l % Taehred ol o8 St
g9

(A) ST qE i
(B) Hw 9 it
(C) o sfEy Hifq
(D) 9 feem &t AR e
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43.

44,

45.

46.

frffea & & &9 @ SEHT O

STERET BT TSI el LT ?

(A) STETETH. (Thipa et fashra
HIISHH)

(B) wHHITA. (Mg U R] @A
FHTISHH)

(C) FomEd, (@Evifs  IrepEo
FHTISHH)

(D) TeRUTEUd, (FoRl ToF U
I T )

2011 & IFEAH SHIOAT SRS &
R 9RA H FaAlgs TRIFd T
FEAAE?

(A) Tem
(B) =i\
(C) e
(D) dfEeHTg

2011 SFIIOFT % STIER Hieemsll i
TIAAT & & T | 9YRA & o1
FEIE! ShH H T i

(A) ATTerE, T, He, freRE, B
(B) e, frsiy, e, Brqu, Armeie
(C) e, Treiry, forgRT, e, Armeie
(D) ATTer, e, BroRT, sy, et

Al oo qar 99 o9 &S R

2011 I SFRIUMT & AR forT ST

% ERIE! Y o T Y

(A) A, TGS, TUSERT, AHATG

(B) UUERRl, W&, WY,

(C) USRI, &, SUETE, T
PEN]

(D) A, UUSRR, Amerg, TR
i)
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47.

48.

49.

Which source of data is used for the
study of population ?

(@) Population Census

(b) Registration of vital events
(c) Sample surveys

Codes :

(A) a/b,c

(B) onlya

(C) Only (a) and (c)

(D) Only (b) and (c)

During the decade 2001-2011, the
percentage recorded growth rate of
the population of India was close to
which among the following ?

(A) 15.64
(B) 16.64
(C) 17.64
(D) 18.64

Match from List — I to List — Il with
regard to languages of India by
number of native speakers as per the
2001 Census ?

List—1 List— 11
a. Marathi i. 6.99%
b. Telugu i. 7.19%
c. Bengali ii. 8.11%
d. Hindi iv. 41.03%

dialects
Codes :

a b c d
(A) i i i v
(B) iii v i i
) i ii i v
(D) iv i ii iii
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50.

51.

52.

53.

According to SRS Bulletin December
2011, the Natural growth rate of the
country falls in which of the
following categories ?

(A) 10-11.9
(B) 12-13.9
(C) 14-149
(D) 15-15.9

The desirable properties of a good
estimates of population parameter is

(A) unbiased and consistent

(B) unbiased and
variance

(C) unbiased, consistent  and
minimum variance

minimum

(D) consistent, minimum variance
and efficient

Which indicator is used to measure
degree of variation in per capita
income of India and USA given in
unit of Rupees and Dollars ?

(A) Correlation
(B) Coefficient of variation
(C) Co-variance

(D) Dispersion

Which of the following type of graph
does not represent the size of
population ?

(A) Histogram
(B) Pie-diagram
(C) Bar Chart

(D) Line Diagram
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47. SHEEN & AT & folU Hq &T &
HiHg 1 ST fehaT ST € 2
a.  SHEEA ST
b. WYY Tl FeAsh W
TSROt
C. AT (Jee) WelET
&<
(A) a/b,c
(B) %ad a
(C) waeta 3R c
(D) =t b 3R c
48. 2001-2011 % I % INH, IRA Hf
SO @ 35 ghg W H ufae
ffatea § 9 foraeh e & 2
(A) 15.64
(B) 16.64
(C) 17.64
(D) 18.64
49, gl (WRT H 9O B Ge-11 (T
ST STl o EAT) o AT GHferd e
= - | =t - 1
a. W i 6.99%
b. T ii. 7.19%
c. el iii. 8.11%
d. ==t iv. 41.03%
Fiforat
FT
a b c d
(A i i i v
B) Qi v Qi i
C) i Qi i v
O) iv i Qi i
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50.

5l.

92.

53.

TH.ARTE. ol  RE=R 2011 &
IR, I I 49T gy X Ffara
T ¥ T 9ot § st 2

(A) 10-11.9
(B) 12-13.9
(C) 14-149

(D) 15-15.9

ST T o SUGE I % aifsd
T ¢

(A) AN SR gETd

(B) STNMA 3R =JAaH TEI0T

(C) 3FNa, U 31 AT TR0
(D) |EH, FAAH TEROT 3T FHriere

YRT 3R JUET, S Ufd Al o1, 5
SHAYT: T0F 3T SO/l IH1E H el ¢,
T gGI0T sl TeUl o A A H i 9

Gohaesh T SUANT fhaT STrar € 2

(A) TeaEy

(B)  feremor b1 UTieh
(C) wWeuwu

(D) fos

frefefeaa § 9 =9 @ g SHEEn
% SR o T&l 9T & 2

(A) e fax (feemm)
(B) T NG (€ TEIM)

(C) <= (dR =)
(D) @I AG (AT SFUTH)
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54,

95.

56.

If the universe from which the
sample is to be obtained is
homogeneous, which  of the
following sampling techniques will
be most appropriate ?

(A) Stratified Random Sampling
(B) Cluster Sampling

(C) Simple Random Sampling
(D) Systematic Random Sampling

Type of graph required to determine
the percentile is

(A) Frequency curve
(B) Ogive curve

(C) Histogram

(D) Ratio Chart

Arrange in logical sequence the steps
involved in survey research given
below :

units of
data

1. Selection of
measurement for
collection.

2. Type of study design and
method of data collection.

3. Analysis of data and drawing
conclusion.

4. Type of data to be collected
and its source.

Codes :

(A 1,3,2,4
(B) 4,2,1,3
(C) 3,2,4,1
(D) 2,4,1,3
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57.

58.

59.

Usually, age specific fertility rates
for women are the highest

(A) at ages 15 — 24 and lower
thereafter

(B) at ages 20 — 29 and lower at
ages 15 — 19 and ages over 30

(C) at ages 25 — 34 and lowest at
ages 15 — 24 and ages over 35

(D) at ages 15 — 24 and fairly
constant throughout the child
bearing years.

Which of the following is measured
by Child-Woman ratio ?

(A) Population growth
(B) Fertility

(C) Mortality

(D) Migration

What is the current definition of
Entropy ?

(A) Proportionate change in the
expectation of life at birth as
the result of reduction of one
percent in the force of mortality
of all ages.

(B) Proportionate change in
mortality as the result of
reduction of one percent in the
expectation of life at birth.

(C) Joint change in mortality and
expectation of life at birth due
to change in survival rate of
population in same age group.

(D) It is reduction in overall age
specific mortality on account of
per unit change in expectation
of life at birth.

J-15-13



o4,

55.

56.

Iie gofte, fad @ uidesl ure &3 8,
TAET §, df FEeEd § " s 9

e T SUgeRT et 2

(A) WA Agred® AfTaz—

(B) =S HiqaaA

o o
(C) T TG Aldaa

(D) HHIF A5 ATaa

e [URT 4 & [T 69 TR &1
T 2T0feTd e € 2

(A) eTgrd s
(B) @Rl &k
(C) ot fa=
(D) @ =E

T K T AT MY | wEred
HIAHT S THYUT SF5hA T AT e

1. 37ihgl Wbl & HIT I gehredl
& T

2. 3FEq fesied = weR X

3. ofihel o favelmor Y Ry

IEEAGEI

4, o9 UBR HT 3ThgT HehicTd hiAT

£ 3 3G Aid

(A) 1,3,2,4
B) 4,2,1,3
C) 3,2,41
(D) 2,4,1,3
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o7.

58.

59.

Higemstt & ferr 31 fafere ysFmar 3¢
T fohg o | Soad et € 2

(A) 1524 99 & 3T W AR T F9
2 ST € |

(B) 20-29 a9 & 3 | 3 15-19 a9
H Y | AR 30 T H A 37
H 9 &l Sl ¢ |

(C) 25-34 o4 &t 3T § 3 15-24 i
Mg W 3R 35 § Ay oy |
IStoct il

(D) 15-24 & 3G H 3R T=d 59 A
' 3G F T TIT FHIH (&R |

AT U % FRT FrEd § 9
forgent |19 foram 7T € 2

(A) SHEET gy

(B) USHaT

(C) T
(D) Yo

SCRA-ATY (WZTHT) T Tel IS 7 & 2

(A) T g * gga1 & T H TH
TTTeT oY AT o HoTeaed ST &
g Sfied TRn H ST
Eltene]

(B) ST % THF SfioH TR H UH
eI Sl HH % Hoaed T

M o o C
fl' SHIgHlIdee YR

(C) U SI¥ o1 o H SHI@T &
FTEHIAT ¥ H IRedT &% HROT
S & T W S{iaT TR AR
Y | HIRT R

(D) SFI % FEI S Yeem | Ui
THE UREH % HRUT Y AT
TEIUT GG | Sl
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60.

61.

62.

63.

How is the Net

measured ?

(A) (Immigrants — Outmigrants) /
Total Population x K

(B) Migrants/Total Population x K

(C) Immigrants / Total Population
x K

(D) Outmigrants / Total Population
x K

migration be

Which of the following migration
streams  favour more  female
migration than male migration in
India ?

(A) Rural to Rural

(B) Rural to Urban

(C) Urban to Urban

(D) Urban to Rural

What is the reason for low sex ratio

in mega cities of India ?

(A) Female foeticide

(B) Female migration due to
marriage

(C) Sex selective migration

(D) Census under count

Assertion (A) : Domestic violence is
one of the major scourges
which scars the society.

Reason (R) : Most women accept
violence against themselves.
Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue and (R) is false.
(D) (A) is false and (R) is true.

Paper-I111

20

64.

65.

66.

Assertion (A) : Women’s health has
to be extended beyond
reproductive health issues.

Reason (R) : Reproductive health
issues of women are important
for the overall health.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct,
but (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false but (R) is true.

Assertion  (A) Sustainable
Development provides long
term access to resources
needed to satisfy needs and
improve well-being of the
people.

Reason (R) : Sustainable Societies
secure the peoples’ rights to
resources and duties towards
conservation of environment.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both (A) and (R) are correct
and (R) is not the correct
explanation of (A).

(C) (A)istrue, but (R) is false.

(D) (A) is false, but (R) is true.

Which of the following is a true

statement ?

(A) Human share the earth’s
resources with all living beings.

(B) The biosphere is important to
all of us.

(C) The earth’s
limited.

(D) All these statements are true.

resources are
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60.

61.

62.

63.

et UeEs & 719 ohE YR TRar Sen

g9

(A)  (3THETE — STET e /et SHEE

x K
(B) WaTHl/FA SHEE x K

(C) TwaTHl/Fet SHEET x K

(D) SR WaEl /et SHEET x K

fr=fefad § | 9 91 Yod T JeE 9Rd
H I5Y Jord ! qoT | AEel - &
STRT STHA Il & 2

(A) TTHT ¥ TrHT
(B) wmHivT § vl
(C) v=d T el
(D) v&d ¢ T

YRA & HeFTRI | forT o1 ard & 4 g+
T FT HROT E 2

(A) T Yo T

(B) foame % sRoT few@ s veaa
(C) Tort = vaw

(D) dTEfee & Y ST

A (A) @ W B T =€
TEER & ST GENT ol hediehd
HLATE |

&R (R) ;ST Algamd 370
I &1 Bl Wi ol € |

C I

(=N

(A) (A) 3R (R) =i W € 3% (R),

(A) =l TE T |

(B) (A) 3R (R) 3 @l € =] (R),
(A) i Tel =T T T |

(C) (A)TITETRA (R) ITHAT |
(D) (A) AT (R)TAT |
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64.

65.

66.

AfuHAT (A) : HAfeanstt & @reF =i
TS W & Bl ¥ W fand
AT TS |

HRT (R) i 3| 2| M R S T E
W gl 97 gl @ &
ford Hewaqul € |

T4

-4 .

(A) (A) 3R (R) 3 Wl € 317 (R),

(A) =l TE A |

(B) (A) 3R (R) 3 il & = (R),
(A) ol TEl =T T E

(C) (A)T= & W= (R) ST E |
(D) (A) 3 \T g R (R)TAT |

e (A) : gRONE fashr T 6
JMAYIHAT T FA & ford 3R

Schl hod[U]  hd %71’ AR

GATEAT Sl SEIeTsh TR TR
HATE |
HRT (R) : YRONE GHEST UATERT

% WU T AN o HEE W
AMYPR AR HeAl T G
FATE |

&<

(A) (A) 3 (R) < W1 € 31 (R),

(A) = &l AT |
(B) (A) 3R (R) 3 @l € =] (R),
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Which are the two compounds of

acid rain ?

(A) Carbon dioxide and Water

(B) Sulphuric acid and Nitric acid

(C) Carbon dioxide and Sulphuric
acid

(D) Nitrogen and Water

Which one among the following is

not a Millennium Development

Goal ?

(A) Eradicate Extreme Hunger and
Poverty.

(B) Promote Gender Equality and
Empower Women.

(C) Improve Health of the Aged
Persons.

(D) Ensure
Sustainability.

Environmental

According to the Sample Registration
System Bulletin December 2011,
which among the following State has
the highest infant mortality rate ?

(A) Uttar Pradesh

(B) Orissa

(C) Madhya Pradesh

(D) Rajasthan

Which among the following is not a

characteristics of slums ?

(A) Environmental health hazards

(B) Generation of deviant
behaviour

(C) Conducive environment for
educating children

(D) Breeding ground for political
radicalism and violence

Which of the following has the
highest water use ?

(A) Industries

(B) Crop Irrigation

(C) Households

(D) Recreation

72.

73.

74.

75.
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According to the 2011 Census, what
percent of households have access to
safe drinking water ?

(A) 70

(B) 86

(C) 93

(D) 52

Arrange sequentially the steps to
achieve population stabilization :

(@ Replacement level of fertility
(b) Zero population growth rate

(c) Stable age distribution

(d CBR-CDR=0

(A) a b c d
(B) b c d a
C) a d b c
(D) d b c a

Which among the following items is
not aim of the National Policy on
HIV/AIDS ?

(A) Protect rights of those who are
infected and provide access to
available care, support and
treatment.

(B) Protect workers from stigma
and discrimination.

(C) Encourage transmission of HIV
infection among workers and

their families.

(D) Ensure safe migration and
mobility  with  access to
information services on
HIV/AIDS.

What happens when excessive

quantities of carbon dioxide, water
vapour and nitrous oxide in the
atmosphere reflect back into the
earth’s surface ?

(A) Acid Rain

(B) The Green House effect

(C) Solar Introspection

(D) Desertification
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